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Deutsche Geschichte und Kultur
Hinweis: Mit den folgenden Fragen werden lhre Kenntnisse im Bereich ,,Deutsche

Geschichte und Kultur® iiberpriift. Lesen bitte sorgfiltig die Fragen und entscheiden Sie
sich dann fiir dic richtigen Antworten!

51 e war vor der Einfiihrung des Enros gesctzliches Zahlungsmittel der Republik
O)sterreich.
1) Dic Mark 2) Der Gulden
3) Der [Franken 4) Der Schilling
52- - ist die Muttersprache von etwa 88,6 % der dsterreichischen Staatshiirger.
1) Oberdeutsch 2) Niederdeutsch
3) Alemannisches Deutsch 4) Osterreichisches Deutsch
53- Die Osterreichisch-Ungarische Monarchie (1867-1918) ist Folge -------- vom 8. Juni 1867.

1) des Anschlusses von Ungarn an Osterreich

2) des asterreichisch-ungarischen Ausgleiches

3) der erzwungenen Eingliederung Ungarns in Osterreich

4y des vilkerrechtlichen Zusammenschlusses von Osterreich und Ungarn

54-  Osterreich ist ein Bundesstaat. Mit diesem Begriff ist ein Staat gemeint, --—-----—--- ’

th

1) der aus mehreren 'l eil- oder Gliedstaaten zusammengesetzt ist

2) dessen Entscheidungen auf der Ebene des Bundes getroften werden

3) dessen Politik nicht im Einklang mit der Zentralregierung steht

43 der seine Innenpolitik im Sinne der Bundeslinder bestimmt

3-  Dcutsch ist in der Schweiz dic --—----—-—-,

1) meistverbreitete Verkehrssprache

2) von der Regicrung bevorzugle Amtssprache in allen Kantonen

3) in allen Schulen als obligatorisch zu sprechende Muttersprache

4) cinzige von der Regierung bestitigle Amissprache in internationalen Bevichungen
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58-

60-

61-

62-

64-

------------- ist offizicller deutscher Name der Schweiz.

1) Deutschschweiz 23 Dewtsche Fidgenossenschali

3) Schweizerisches Deutschland 4) Schweizerische idgenossenschall
------------- , der (die) vom 18. September 1814 bis 9. Juni 1815 stattfand, hatte zum Ziel,
Europa unter der Fiihrung von Russland, England, Preufien und Osterreich zu
reorganisieren.

1) Der Wiener Kongress 2) e l'rankturter Konferenz
3) e Miinchner Sicherheitskonferenz 4) Der Schweizerische Sicherheitskongress
Die -----—------—- st einer der wichtigsten Grundsiitze der Aulienpolitik der Schweiz.

1) Neutralitit

2) Vermittlerrolle

3) Vertretung der Interessen der isolierten Linder
4y Moderate Einmischung in die Konflikte der Welt

Deutschland wurde 1871 und unter Otto von Bismarek -——-—--—-—-- .

1) als Erstes Reich gegriindet 2) vom Reich aut Kaisertum umbenannt

3) zu cincm Reich zusammengeschlossen  4) vom Heiligen Romischen Reich abglist
In dem von Bertolt Brecht verfassten Theaterstiick ,,-----m-oemm- * ist der Dreifligjiihrige
Kricg (1818-1848) thematisiert worden.

1) Trommeln in der Nacht 2) Leben Eduards I von England

3) Mutter Courage und ihre Kinder 4) Die Geschichte der Simone Machard

In der literarischen Epoche ,, Autkléirong® wird --------——-—- in den Vordergrund gestellt.

1) rationales Denken

2) humeorvolles (Gedankengut

3) getiihlsbetonntes Miteinander

4} die Sympathie mit unschuldigen Kindern

Martin Luther (1483-1546) gilt in der deutschen Geschichte als -—------—---- :
1) Pionier des modernen Christentums

2) die zentrale Figur der Reformation

3) Vorkimpfer der katholischen Kirche

4) Wegbereiter des Kampfes gegen Aberglaube im Christentum
Eigenschaften wic Effizienz, Disziplin und Organisation gelten als typisch deutsch, das
bedeutet, sic gelten ja als --——--——--—-- A

1) deutsche Tugenden 2) germanische Rassenlehren
3) Charaklcristika des Germanentums 4y Grundpleiler der deutschen Geschichie
Im Zuge --------—- entstanden 1949 zwei Staaten: In den westlichen Zonen die Bundesrepublik

Deutschland, in der sowjctischen Zone dic Deutsche Demokratische Republik.
1) der Reaktion aut die atomare Bedrohung durch die Sowjetunion

2) des Inkralitretens des Bundes zwischen Ost- und Westberlin

3) der Volksabstimmung in Ost- und Westberlin

43 des weltpolitischen Ost-West-Konflikics

Ende der 1950c¢r Jahre des 20. Jahrhunderts gab diec DDR cin gesamtdentsches Zicl, dic
» Wiedervercinigung® auf und machte ----—--—---- zur Staatsdoktrin.

1) dic deutsche Zweistaatlichkeit

2) den Anschluss von Westberlin an Ostherlin

3) den Beitritt in die Européische (Gemeinschaft

4) den Zusammenschluss von (st- und Westberlin
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Grammatik
Hinwcis: Mit den folgenden Fragen werden [hre Kenntnisse im Bereich ,,Grammatik®

iiherpriift. Lesen hitte sorgfiiltig die Fragen und entscheiden Sic sich dann fiir die richtigen

Antworten!

66- Mangels ---------—--- wurdcen alle Angcklagten freigesprochen,
1) handlesten Bewels 2) handlesiem Bewceis
3) handlesten Beweises 4) handlesics Beweiscs

67- Um wclche Art von ,Angahe” handelt ¢s sich beim unterstrichenen Satzglicd im Satz
»Wegen des Gewitters verzichtete ich auf den tiiglichen Spaziergang“? Um —--—--———--—,
1) I.okal-Angabe 2) Modal-Angabe
3) Kausal-Angabc 4) Temporal-Angabe

68- Der Anwalt ging davon aus, dass sich der Angeklagte -------—---—-- gar nicht bewusst
gewesen war.
1) sein Tun 2) seines Tuns 3) seinen Tuns 4y seinem Tun

69- I'rotz der Doppelverglasung litt sie in threr Wohnung —------------ Strallenlirm.
1) an dem 2) unter dem 3) vor dem 4y ither den

70- Welche Umschreibung des Satzes ,, Tim hat vorausgesehen, dass das Wasser so schoell

ansteigen witrde® ist korrekt?

1) T'im hat so schnell den Anstieg des Wassers vorausgesehen.

2) I'im hat den Anstieg des Wassers so schnell voraussehen konnen.

3) Tim hat einen so schnellen Anstieg des Wassers vorausgesehen.

4y Tim wiirde den Anstieg des Wassers so schnell vorausgesehen haben.

Wortschatz
Hinweis: Mit den folgenden Fragen werden lhre Kenntnisse im Bercich ,,Wortschatz®
iitherpriift. L.esen bitte sorgfiltig dic Fragen und entscheiden Sic sich dann fiir dic richtigen
Antworten!
71-  Zeitschriften sind im Gegensatz zu Zeitungen thematisch nicht -------—------ ausgerichtet.
Sie richten sich vielmehr an spezielle Interessen.
1) analog 2) orthographisch ~ 3) universell 4) vereinsamt
72- Dic Geschichte wird in Epochen ———--—-—--- » auch dic Kirchengeschichte.
1) kategorisicrt 2) unterteilt 3) scgmenticert 4) argumenticrt
73- Im Verlauf des 12, Jahrhunderts ——--—--—--—--- in FranKkrcich das litcrarische Genre ,der
Versroman® als Produkt hifischer Kultur.
1) entkam 2) vertiel 3) verging 4) entstand
74- Mein alter Freund wurde mit den Jahren 50 ---—----- , dass ich mit ihm, ohne die
Nerven zu verlieren, nicht sprechen konnte.
1) stur 2) artig 3) gelzig 4) kaltbliitig
7% Ieh kann zu dicser Meldung kein(e) -------——--- nchmen, Ich bin nicht auf dem

Laufenden,
1) Farbe 2) Noliz 3) Kenntnis 4) Stellung
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Textverstindnis

Lesen Sie bitte den folgenden Text und entscheiden Sie sich dann im Hinblick auf die
jeweiligen Fragen fiir die richtigen Antworten!

76-

77-

78-

Robespierre, der die I'ranzdsische Revolution wie kein anderer verkérperte, gilt noch
heute den einen als blutriinstiger Tyrann. den anderen als prinzipienfester Patriot. Einst
Stipendiat des renommierten Jesuitenkollegs Louis-le-Grand in Paris, lief3 er sich nach
Jurastudien 1781 in seiner Heimatstadt Arras als Rechtsanwalt nieder. Er erwarb sich
den Ruf eines Ilirsprechers der Armen vor Gericht und wurde 1789 als Vertreter des
Dritten Standes in die erstmals seit 1614 wieder zusammentretenden Etats-Généraux
(Generalstinde) nach Paris entsandt. Hier und spiter in der Konstitvante, der
verfassunggebenden Nationalversammlung, trat er in zahlreichen Reden [ir die
Demokratie cin. wodurch er viele Freunde gewann, aber auch nicht wenige Gegner.
Fiihrendes Mitglied der radikalen Jakobiner., wurde er jedenlalls bald aulgrund
sciner bescheidenen Lebensfithrung und scines Fintretens fiir das cinfache Volk als der
«Unbestechliche» bekannt. Der Gegensalz zu den gemiéBigleren Girondisien wuchs
jedoch, als er den 1792 beginnenden Krieg gegen PreuBen und Osterreich missbilligte
sowie die Absetzung Konig Ludwigs XV1. und schlielilich dessen Hinrichtung betrieb.
Als Fithrer der radikalen Montagnards (Bergpartei) offenbarte er immer deutlicher
seine Absicht, «la vertu» (die Tugend) in der Gesellschaft notfalls auch durch blutigen
Terror durchzusetzen. Seit Juli 1793 gewann er durch seine Mitgliedschaft im
regierenden Wohllahrtsausschuss eine fast unumstrittene Machtstellung. So konnte er
im Frithjahr 1794 scine Widersacher Jacques-Ren¢ Hcbert und Georges Danton
hinrichten lassen und im Juni zur Festigung seiner Herrschall den Kull des T1ochsten
Wesens cinfithren. Scine Schreckensherrschafi cinigte jedoch scine Feinde, und der
Konvent stiirzte ihn am 27. Juli 1794. Am folgenden Tag wurde er guillotiniert.

Welche Feststellung iiber den Ausgang von Robespierre ist korrekt?

1) Er starb infolge einer Krankheit im hohen Alter.

2) Er wurde am 28. Juli 1794 durch das Fallbeil hingerichtet.

3) lhm wurde im Frithjahr 1794 durch die Guillotine das l.eben genommen.

4) Er wurde zu lebenslangem Gefiingnis verurteilt und dort tédlich vergiftet.

Wis dem Text entsprechend im Hinblick auf die Person ,,Robespierre® in Frage kommt,
ist, dass ---—--——-—-- ‘

1) sich da die Geister scheiden

2) er nie den Ruhm eines redlichen Revolutionérs erlangt hat

3) er die Franzosische Revolution in die Ruine getrieben hat

4) man ihn als unbestrittenen Vorkiimpfer der Franzdsischen Revolution anerkennt
Der Text besagt, dass Robespierre vor seiner politischen Laufbahn -—--—--—--- s

1) den Diritten Stand vernachléssigt hat

2) ein Herz fiir die Armen gehabt hat

3) in den Gerichten nur als Anwalt fir den Dritten Stand tiitig war

4) das Angebol, als Anwall [lir die Armen Uilig zu sein, abgelehnt hat
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Was dic Taten und Entscheidungen Robespierres anbetriftt, --—-----—--— :

1) wiirde kein Franzose der heutigen Generation ihn tadeln

2) denkt dic Mchrheit der Franzosen, dass er gerecht gehandelt hat

3) gibt es immer noch I'ranzosen, die ihn verehren

4) denken alle I'ranzosen, sie hiitten dem Ansehen I'rankreichs geschadet

Welche der folgenden AuBerungen stimmt?

1) Er wurde als unabhéingiger Anwalt in die Generalstiinde einberufen.

2) Er ist niemals als Abgeordneter in die Generalstiinde entsandt worden.

3) Er wurde als Vertreter des Dritten Standes in Generalstinde entsandt.

4) Er wurde nach seiner Einberufung in die Generalstiinde als Flirsprecher des Dritten
Standes bestinunt.

gt ileasd 5 bj t2) Y G pol Kty g s J 6 g ot biibad 4o

A qué se refiere la “chilenizacion?

1) s ¢l programa chileno que ¢l gobicrno decidié estableeer las fronteras enire los
territorios chilenos y bolivianos.

2) Es la medida proteccionista para incentivar el desarrollo industrial favorecido por la
Segunda (Guerra Mundial en la economia chilena.

3) Es la reforma del gobierno chileno en el sector agricola que tratod de ser remediada
con una reforma para que las tierras no cultivadas o infrautilizadas de los latifundios
podrian ser expropiadas mediante el pago de indemnizaciones a sus propietarios.

4) Es la respuesta del gobierno chileno a la nacionalizacion del cobre exigido por la
izquierda, a través de la cual, el estado chileno comprd un porcentaje de las
acciones de las compasivas mincras norlcamericanas medianie aporics de capital
que debian ser invertidos en la mejora de la produccion.

La organizacion gucrrillera y terrorista de tendencia maoista en Perll --———-—----- :

1) Sendero Luminoso

2) Fuerzas de MinoPera

3) Movimicnio Revelucionario Tupac Amaru

4) Alianza Popular Revolucionaria Americana

En la Guerra Sucia, uno de los métodos mas crueles y mis frecuentes de eliminar a los

enemigos, se realizaba mediante ------—-------,

1) la tortura 2) la gjecucion

3) la esclavitnd 4) la desaparicion

¢ Qué cs la politica de “huena vecindad”?

1) politica presentada por Ronald Reagan, que autorizaba a los EE.UU. a intervenir
militarmente en Filipinas.

2) politica impucsla por Franklin Rooscvelt, que desautorizaba la Interlerencia de otras
nacioncs en los asuntos internos de los paises latinoamericanos

3) ideologia marxista iniciada por ¢l mexicano ILazaro Cardenas que disefio su reforma
agraria basandosc en ¢l modclo tradicional indigena de distribucion de la ticrra.

4) idcario politico latinoamericanista y antiimperialista de Frnesto Che Guevara que
constataba el poderio estadounidense y la explotacion de los pueblos
latinoamericanos.
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El derecho de monopolizar la esclavitud en Hispanoamdérica a Inglaterra se concedin a
través de -----—---—---,

1) ef acuerdo de Paris 2y el Tratado de Utrechl

3) el Tratado de Tordesillas 4y el acuerdo de La Triple Alianza

& qué se refiere la Contra?

1} un ejército mercenario sostenide por EEUL de oposicion a los Sandinistas

2)una organizacién con base en [londuras creada para disminuir ¢l avance de la

economia nicaragiiense

3) una oposicion al somocismo durante las actividades de grupos guerrilleros surgidos
en el norte de Nicaragua

4) un cuerpo militar creado, entrenado ¥ equipado por los oliciales nicaragiicnses cn
contra dc los hondurciios

Cartas Marruecas ¢s la obra mas representativa de José Cadalso, la cual ¢s una clara

imitacién de la obra ——--——--,

1) Cartas Turcas 2) Cartas insolitas

3) Chinesse Letters 4) Lettres Persanes

& Qué cs ¢l recurso utilizado en este poemario de Lope de Vega?

Desmayarse, atreverse, estar furioso

aspero, tierno, liberal, esquivo,

alentado, mortal, difunte, vivo,

leal, traidor, cobarde vy animoso.

(Lope de Vega)
1) polipote 2) oxymoron
3) asindeton 4) polisindeton
La primera corriente literaria posterior a la guerra civil espaiola fue --—-----—-—- :
1) esperpento 2) naturalismo 3) neolibralismo 4) tremendismo
éDe quién es la obra El estudiante de Salamanca?
1) Jos¢ Zorilla 2) Emilia Pardo Basan
3y Jos¢ de Tspronceda 4y Mariano José de Larra
La obra mas representativa de José Ortega v Gasset e§ --—-----—----- ;
1) Niehla 2) Ef Camino
3) La Deshumanizacion del arte 4y La Familia de Pascual Duarte

La téenica utilizada por Ramén Maria Del Valle-Inclin, a través de la cual mira a sus
personajes desde arriba, como seres interiores. El escritor asume la posicion de un dios,
indiferentes a las penas de sus creaciones.

1) purismo 2) futurism 3) esperpento 4) tremendismo

Mis padres dejaron las cosas bien atadas ------—------- todos los hermanos heredaramos lo
mismo.

1) por que 2) por lo tanto 3) excepto que 4) de manera que

& A qué se reficre la pocsia desnuda’?

1) la poesia suele ser culto, rebuscado e innovador, hasta ¢l punto de inventar palabras.

2) la pocsia sc reduce a simbolo v, libre de la sensualidad v ¢l pocla busca la verdad
que hay detras de las cosas.

3) sc enlatiza la sonoridad de la palabra, s¢ implementa un lenguaje relacionado con cl
mundo de la pintura.

4} s¢ enloca en mostrar humeristicamente algunas tensiones sociales urbanas v ridiculiza o
censura algunas situaciones.
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La exhortacion al aprovechamiento de la juventud cs un topico literario llamado --------- i

1) “Ubi Sunt? ™ 2y “Carpe Diem”
3) “Beatus lle” 4) “Locus Amoenus "
Platero ¥ yo es una obra lirica eserita por -----—--—--—- .

1y Antonio Machado

2) Juan Ramon Jiménez,

3) Federico (arcia Lorca

4y Ramon Maria del Valle-Inclan

Los elementos de tipo surrealista de influencia freudiana aparecen en ----—-—--—-—--- de
Federico Garcia Lorea,

1) Romancero Gitano 2) Dona Rosita la soltera

3) Poeta en Nueva York 4y Casa de Bernarda Alba

La contaminacién de rios y capas freidticas -----—---—-—- Ia filtracion de substancias
industriales.

1) debido a 2) es debido a

3) ¢s aleclado por 4) ¢s determinante de

“Bicn ric, bicen llora.”, ¢s una proposicién coordinada ------------- .

1) distributiva 2) disvuntiva

3) adversativa 4) copulativa

—-=mmmmmm——- l6iZico que trabajara tan dure a fin de que - suficiente dinero para ir
de viaje en las vacaciones navidceiias.

1) Lra, cobre 2) Fra. cobrara

3) l‘'ue. cobre 4) hubiera sido, cobrara

& Por qué no me hizo caso Margarita cn la ficsta?

- No lo sé. ~-—---—--—-—- algan problema contigo.

1) Tendra 2) Tuvo

3) Habia tenido 4) Hubiera tenido

Que me juzgues, que me pienses, que me quieras, que te olvides 0 que me recuerdes, ya
nada tiene sentido para mi

Iis una oracién:.

1) compleja, polisindeton 2) compleja, vuxtapuesta

3) sencilla, coordinada disyuntiva 4} scncilla, coordinada copulativa

& Qué piensas de Pedro?

- Me cae gordo

& Qué significa Caer gordo?

1) es simpatico 2) parece problematico

3) resulta antipatico 4} esta rico

A veces un mulentendido en los campos politicos ------------- problemas irrecuperables ¥
destructives, aun dificiles de superar.

1) causa 2)es debido a

3) procede de 4 proviene de

En cuanto deje el bolso en la clase ---—-------— meterme en la oficina del rector.

1) creo 2) debo

3) sicnto 4) picnso
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Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best

chaoice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

After liberalization of trade policies in India, there has been a positive gross domestic
product growth rate in [ndian economy. Foreign direct investments have helped India
to attain a financial stability and economic growth with the help of investments in
different sectors. FDI has boosted the economic life of India and on the other hand
there are critics who have blamed the government for ousting the domestic inflows.
Foreign direct investments help in developing the economy by generating employvment
io the uncmployved, gencrating revenucs in the lorm of tax and incomcs, linancial
stability to the government, development of infrastructure, backward and lorward
linkages 10 the domestic firms [or the requirements of raw malterials, tools, business
infrasiructure, and act as support lor linancial system. Forward and backward linkages
are developed to support the foreign firm with supply of raw and other requirements. It
helps in generation of employment and also helps poverty eradication. There are many
businesses or individuals who would earn their livelihcod through the foreign
investments. There are legal and financial consultants who also guide in the early stage
of establishment of firm. Foreign investments mean both foreign portfolio investments
and foreign direct investments. FDI brings better technology and management,
marketing networks and offers competition, the latter helping Indian companies
improve, quile apart Irom being good [or consumers. Alongside opening up of the FDI
regine, sieps were laken 1o allow [oreign portlolio invesiments into the Indian stock
market through the mechanism ol forcign institutional investors. The objective was not
only to facilitate non-debt erealing lorcign capital inflows but also to develop the stock
market in India, lower the cost ol capital lor Indian enterprises and indirectly improve
corporate governance structures.

106- Competition between companies results in -----------—- :
1) better technology and management
2) more dependence on customers’ judgment
3) their improvement apart from being good for consumers
4) the best possible business environment for multinational corporation
107- All of the following are the positive impacts of FDI in India EXCEPT --—------—--- :

1} it helps reduce poverty 2) it improves the infrastructure

3) it causes the tax increase 4y it decreases the unemplovment
108- The word *ousting” in line 5 means ----—----—---,

1) removing 2) offering

3) dclining 4) governing
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Allowing foreign portfolio investments into the Indian stock market --——-—-——--—- :
1) Icads to commereial borrowings and depository receipls

2) makes non-debt ereating lorcign capital inflows casicr

3) raises capital directly from international capital markets

4) increases toreign technology collaboration

The writer’s main purpose in the passage is to --—---—--—--— :
1) inform 2) entertain 3) persuade 4) illustrate
PASSAGE 2:

‘There i1s widespread agreement that migration can generate economic and other
benefits for destination countries. The precise nature and size of these benefits at a
eiven time criticallv depends on the extent to which the skills of migrants are
complementary to those of domestic workers, as well as on the characteristics of the
host cconomy. In gencral, immigration adds workers 1o the cconomy, thus increasing
the gross domestic product (GDP) ol the host country. There are also a varicty ol wavs
in which migrants can have positive cllects on labour productivity and GDP per head,
¢.g. il migrants arc more skilled than national workers and/or il immigration has
positive effects for innovation and skills agglomeration. By nature or necessity,
migrants are often more likely to be risk takers, and this quality has led to enormous
contributions to many destination countries in areas such as technology. science. the
arts and a range of other fields. In addition to enhancing national income and average
living standards in destination countries. immigration can have a positive effect on the
labour market by increasing labour supply in sectors and occupations suffering from
shortages of workers, as well as helping address mismatches in the job market. These
positive labouwr market ¢llcets are not just evident in high-skilled sectors, butl can also
occur 1n lower-skilled occupations. Immigration incrcases both the supply ol and the
demand for labour, which means that labour immigration (including ol lower-skilled
workers) can generate additional employment opportunities Tor existing workers, OF
course. immigration can also have adverse labour market effects (¢.g. on wages and
employment of domestic workers), but most of the research literature tinds that these
negative impacts tend to be quite small, at least on average. Beyond the labour market
and macroeconomy, the immigration of yvoung workers can also help with easing
pressures on pensions systems of high-income countries with rapidly ageing
populations. Finally. in contrast to popular perceptions. a recent OECD study found
that the net fiscal effects of immigration, i.e. the taxes migrants pay minus the benefits
and government services thev receive, tend to be quite small and — for most OECD
countries analysed in the study — positive.

The author’s main purpose in this passage is to ---——--—--—--,

1) persuade the readers to emigrate to developed countries

2) emphasize the advantages ol migrations on host countrics

3) show pcople the best places lor migration

4) represent the prons and cons of migration

The word “critically” in line 3 can be substitnted by --—-—c—-—,

1) literally 2) naturally 3) obviously 4) cssentially
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Migrants, according to the passage, —-—-=--m-—,

1) have adversely influenced labour market

2) are neeessarily or naturally high-skilled workers

3) are people who take more risks in destination countries

4) mostly suffer from shortage of income in their own countries

Migration can contribute to materialize all of the following in target countries EXCEPT

1} increasing their national income

2) revealing mismatches in the job market

3) improving the standards of lifestyle

4y growing the speed of transferring the knowledge and technology
The text preceding this passage is probably about *--------—--- 5

1) The etfects ot globalization.

2) How is migration changing?

3) The best ways lor migration.

4) Balancing the migration throughout the world.

PASSAGE 3:

Onc ol the main arguments in favor of NATTA at the time it was being proposed by
policymakers was that the agreement would improve economic conditions in Mexico
and narrow the income disparity hbetween Mexico and the United States and Canada.
Studies that have addressed the issue of economic convergence have noted that
economic convergence in North America has failed to materialize. One study states
that NAFTA failed to fulfill the promise of closing the Mexico-U1.S. development gap
and that this was partially due to the lack of deeper torms of regional integration or
cooperation between Mexico and the United States. The study contends that domestic
policics in both countrics, along with underlving geographic and demographic
realitics, contribule to the continuing disparitics in income. The authors arguc that
ncither Mexico nor the United States adopled complementary policics alicr NAFTA
that could have promoted a more successiul regional integration cllort. These policics
could include cducation, indusirial policics, and morc investment in border and
transportation infrastructure. ‘The authors also note that other developments, such as
increased security along the U.S.-Mexico border after the September 11, 2001.
terrorist attacks, have made it much more difficult for the movement of goods and
services across the border and for improving regional integration. They argue that the
two countries could cooperate on policies that foster convergence and economic
development in Mexico instead of increasing security and "building walls."

A World Bank study states that NAFI'A brought economic and social benefits to
the Mexican economy, but that it is not enough to help narrow the disparities in
econonlic conditions between Mexico and the United States. [t contends that Mexico
needs (o invest more in education, innovation, and inlrastructure, and in the quality of
national institutions. The study also states thal income convergence between a Latin
Amcrican country and the United States i1s limited by the wide dillerences in the
quality of domestic institutions, in the innovation dynamics of domestic firms, and in
the skills of the labor force. While NATTA had a positive ¢lfeet on wages and
employment in some Mexican states, the wage differential within the country
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increascd as a result of trade liberalization. Another study also notes that the ability of
Mexico 1o 1mprove ¢conomic conditions depends on ils capacily Lo improve ils
national institutions. adding that Mexican institutions did not improve significantly
more than those of other Latin American countries since NAI“TA went into effects.

What is the main purpose of this passage?

1) T'o change current ideas about NAFI'A

2) To cite the activities of NAFTA in Latin American Countries

3) To show NAFTA has faild to reduce the income disparity between Mexico and the USA
43 To compare economic conditions in Mexico with the other Latin American Countries

The author’s tone in this passage is --—--—--—--—- ;
1) ncutral 2) supportive
3) enthusiasiic 4) argumentative

It is referred in the passage that —--ccceoee——-

1) the quality ol national institutions in MLXILO should be promoted

2) the economic convergenee in North America has entirely fullilled

3) the domestic policies in Mexico has narrowed its income disparity with the U.S.A

4)to promote their integration effort. Mexico and the [J.S have accepted the
complementary policies after NAI'TA

In line 18, the word “foster™ means ---------——--- .

1) produce 2) support 3) restrict 4) represent

You can infer from the passage that the goal of the theory of economic convergence is

1) to provide cooperation among industry and education

2) to limit the economic interference among nations

3) to promote the financial relationships among countries

4) to increase the rate ol cconomic growth and real per capila income in countrics
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All of the following are main features of Gothic Style EXCEPT -----—-—---- .

1) the rib vault 2) the pointed arch

3) the Gothic buttress 4y the illusion of movement

The knowledge of bronze was brought to Britain by ---—--—-o—-—,

1) Ibcrians 2) Anglo Saxons 3) Beaker people 4) Celtic tribes

Which statement about Liberal Democrats is troe?

1) They put more ecmphasis on the environment than other parties.

2) They like (o give high priority (o intcrnal law and order.

3) They belicve in giving less powers o local government.

4y They were Tormed in the carly 1980s from a union of the liberals.

Ladv AStor was -—--c-mea—e--

1) the [irst woman taking hu‘ scat in parliament

2) the leader of women for gaining the right of voting

3) the woman who could restrict the work hours for women and children
4) the first woman being allowed to receive a degree at Oxford University
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The Welsh national assembly ——-ccoeaee—- ;

1) consists ol 40 ¢lected members

2) was opened by Tony Blair in 1999

3) has gained the whole primary legislative powers following the 2007 election

4) does not have direct involvement in appointing the leader of the Welsh Government

The abolition of the Slave Trade happened ---------—-- ;

1} in Georgian period

2) during the years of 1821-23

3) as a result of battle of Dettigen

4) after the war between the USA and Great Britain

Which one about the Battle of Flodden is NOT true?

1) It was the last significant of the wars of the Roses.

2) In terms ol troop numbers, it was the largest battle fought between 2 kingdoms.

3) It happened between the Kingdom of England and the Kingdom ol Scotland.

4) James IV was killed in this battle, becoming the last monarch [rom the British [sles
to dic in battle.

Cambridge University was founded -----—-——-—— .

1y in 1220 as the second great university

2) by scholars leaving the University of Oxtord

3) as Henry [11 was crowned king of England

4) in 1167 when Henry 1l banned English students from attaching the University of ’aris

The result of the Great Irish Famine was --—-------— :

1) a communal crisis of faith among the survived people

2) spurred changes in public health and hospital management

3) the price of labor skyrocketed in the tace of worker shortage

4) migration ol more than a million [rom Ircland

All of these statements happencd during Edwardian period EXCEPT -,

1) George V became king ol England

2) The Housc ol Lords lost its absoluic power ol velo

3) Britain linally won the Boer War

4) Britain became a lounding member ol the United Nations

Thatcherism attempts to promote low inflation, the small state and free markets

through all of the following EXCTEP ----—----——- s

1) constraints on labour movement 2) tight control of the money supply
3) defeating the traditional torism 4) privatization and a dash of populism
On the 18th of September in 2014 , —-—----—-,

1) the United Kingdom voted to leave the European Union

2) the Scottish independence referendum took place

3) Global financial crisis plunged the UK into recession

4) the House of Commons voted against UK military involvement in Syria

Which of the following order of events in Stuart Period is correct?

1) Restoration of the monarchy — Civil War — Glorious Revolution

2) Union ol Scotland and England - Modem Sysiem ol Governmenl — Wars with
I'rance

3) War with Spain— Barbados became a British colony — William Shakespear died

4) Charles 1 surrendered to the Scots — 2™ Civil War— Start of the Long Parliament



134- The first general election that women over the age of 21 could voted happened —-——-eem—-,
1) in April 1908 2)in July 1928
3)in May 1929 4) in October 1935

135- Meaningful Vote on Brexit is a -—--—--—-—-,

1) vote only tocused on the agreement on how Britain would leave the ELJ

2) vote that tforce the government to seek an extension to the deadline

3) game of votes that uncovers the truth about Withdrawal Agreement

4) vote on the Withdrawal Agreement and the IParliamentary Declaration on the future
relationship with the EU
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A, I'paMMarHEA PYCCROMO A3bIKA:

HUnerpyknng: B ka:xaom sonpoce BLI0epHTe NPABHILILIH BApHANT.

136- B rakoM Bapuanre YKa3aluo UAPHUATEILII0E CYIeCIBH T IL1Ioe?

1) Jou 2) Makcum
3) AlIMaThL 4) PoMaHORBL
137- Mos moapy:Era OrLTA cTpamuoeil H0ITVIIROIT W Bel cTapamachk NEPEeroROPHTR —-----—-—-,
H Cif 92CT0 3T0 ¥ 1ABAT0OCH,
1) MmHC 2) MCHsI 3} 000 MHC 4) Ha MCHY
138- Kaxoe npunaraTedbHOC HMECT TOMLKO MOTHVI0 dopvy?
1) kOpruuHCRKIH 2) BU,IHBIH
3) clocoGHRIH 4) GobIoi
13%- ¥VrRawmATC CORO, HAZRTRAKIISE MPATHAK IcHCTRHIL
1) xopoimii napeHs 2} x0np0a Bpaska.IKy
3) XOAUTEL BPA3BATKY 4} 11enk3g pUCoOBaTh
140~ Ka#aelil ro1 fi BCTPEMACE ¢ OBIBIIHMH 0JHOKIACCHHKAMH B ---------------- 0{0CTAHOBKE.
1) apyxeckoii 2} ApyEITON
3) Apy:KecTBenIoH 4} ApYVEUITION
141- B woadpe GG COCTOHTHEH BLIBOPDI, -———--------- HADPIHH BCTYUHIH B UPEABLIDOPUYID
Hopooy.
1) B cBA3M € UeM 2) Tak Kak
3) moToMY UTO 4}y nbo
142- Kypuaaser exasnn: «Cerodus Mol Teker ——-------------- COOTBRTCTBYET Jrod pybpunke: s
HOOBLIBA 1A 3AMOPCKOM LAPY».
1) kak Korga-noyAL 2} KaK T1eKoraa
3) KaK HUKOT A4 4} KaK KOraa-To
143- Munucrp unocrpannmx e PO - pemsmennocrs noaumruku Poccun B
daJkaneKux 4e1ax upu o0cy:Kaeny nojoskenus ua baakanax,
1) yrBepani 2} nOITBEp U
3) HacToAN 4} kacancs
144- B [lepy --—------------- K NPHCATC HOBEII RAOHACT MHHHCTPOR,
1) BeLABMBEYT 2} HAMCPCH

3) 3apCrUCTPUPOBEH 4} upurculH



145- B oxonvwanwH Kakoro riaro a nameres H?
1) (oHH) HaJLE... TCH 2) (OHM) CC...T
3) (onu) Dop...1¢CH 4) (oHuH) Kne...T

146- Kaxoii BapuanT no 3nadennio HE BnnceiBaerca B HHKecIeay0mee npegdokenne?
«Ceitqac mouTn 72% ocyRIeHHBIX 0TOLIBAIOT HAKAIAHHE 32 COBEPIIEHHE -m-=mm-mn=m=-mnm

npecTymIeHHH.»
|) TACRILIX 2) TIaTMETTITRIX
3) TOMKITOCTHEIX 4) TOKKAX
147- Vikamure cocraBioe HOPSIKOBOE YHCIHTENbLHOE,
1) naroaecar pyOaei 2) ceMHaIIaTLIH ro
3) oauImaguaTh CTPaIyL 4} copok WecTel YHacToK
148- B raxkoMm sapuaunre B 000HX C0BaX HPOH3IHOCHTCH 3BYR «bIn?
1) KHTb, OUTH 2} sKeHa, MalllkHa
3) HHpPK., KUCTh 4) IUPOKHH, HIeKa
149- B xkaxom pauy 00a CJIoBa 0THOCHTCH K dencKoMy pouy?
1) cupota, coHs 2} OeKeHKa, J1ead
3) ¥YMHMLA, KYHOLLY 4} 3a0mnAKd, crapocry
150- Ouenk npomy TebA: -------—-------- €O MHOI1.
IMapukmaxep oOpamacTesi K MATBUYHKY-KITHCHTY:  (-m-----==-amame CIIOKOHHO, ThI
MCTIACIITE MHC PAtoTaThY,
1) cuum — TTocuuu 2) ewamre — Cuauie
3) nocwjwm — Tlocum 4} nocnm — Crim

b. Pycckasi HCTOPHA H KYIBTYpA:

Hucerpykunsa: B kamnoM Bonpoce BbidepHTE NPaBUIbHBIN BAPHAHT.

151- Jdeusn [obeun: B Poceniickoii @eaepauun ormeqaiwy -—-—-----------,
1) 23 dempana 2} 8 mapTa
3) 9 mag 4} 17 oxTabps
152- Kro sBasercs cozaatenem Ipmuataxa B Caukr-llerepoypre?
|) PacTpennn 2) Ksapenrn
3) Kamepon 4) Mupornos
153- Kro gpiserca apropoM ¢ckyJanntypsl «Meanstii Beaguuk» B Caukr-Ilerepoypre?
1) dannkorre 2) boptasanckwuii
3) youm 4) IToreMKHH
154- Kro siBiisiercs oCHOBATE/I€M PYCCKOIo Tearpa?
1) LoTeMkumn 2} bopTnancxmit
3) Bonkos 4) Panuinen
155- B kaxkoM npoH3IBeNenHH PYCCKOMH JAHTePATYPLL HOHBAHLTCH epoii-uurnaner?
1) U.C. Typrenep «OTLEI H A€TH» 2) ®.M. [locroescxnii «Mnuor»
3) A.H. Ocrporckuii «I'poszar» 43y 1.A. I onuapo «OdnoMoB»

156- Kak Hazsieanca 3akoHoaaTeanHbI akT [Merpa 1 o pedopme TepRkoBHOTO YIIPABICHAN H
MOTYHHCHHH NCPKBH rocy1apeTRy”?
1) «Tabeiab 0 paHrax» 2) «YKaz 0 CHIHHOHACIC AN
3) «/IvXORHBII per.laMCHT» 4) «Hakas»
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Kak mazniBanack NMepBast pyccrasm nmevaTHasm razcra?

1) «M3rccrsy» 2) «Bejomocrny 3) «Kypanrs 4) «[Tpasna»
B roasl nparacaag Baanuvapa | -,

1) Pych 1IpUHSLIA XPHUCTHAHCTRO

2) coctoancsa Che3 pyeckUX Knsizei

3) mpowsommno obnerenme Knesa v [lonropora

4) OLIT cocTaBnel cBor 3akoros Pveckag Llpapaa

Moo 1o-rarapeKoe LALECTBHE UPHBE.10 K -—-----------=-- .

1) ymaaxy xo34icTBa ¥ KYILTYPLI

2) npeKpalleHuo pasapodneHHOCTH

3) mpeceueHnO ANHACTHH PrOopuKoBHYei

4) OKKyTIAlMH PYCCKUX 38MeNb MOHIONO-TaTapaMu

KTo w3 pycernx mucareacii XVI sera pazpadoran TeopHo «Tpex mTHACH»?

1) L.A. KpsLiog 2} A 1L Cyuapokos
3) M.B. JTomoHocOR 4} A H. Paxmues
OTrMeHAIH KpemocTHOC TIPARN B PoceHy ————-——-——-- ;

1 r18121, 2)e 1917 1.

3y 1825, 4y B 1861 1,
IMepuouy, nassanusiia CMyrusiM spevenem, 6oL B Poccum ——--—--—-—--—--,
1) B 15 nexe 2) B 16 nexe

3)n 17 nexe 4)yn 18 pexe
Pacnag CCCP npomzomén ----------------,

1)®r 1961 roxy 2)yr 1991 romy
3)B 1985 rooy 4y B 1993 romy

Kro dpL1 pnasmmagen NIEABHOKOMAMIY O IIHM p}"l.:ch:uii ‘dp_\-lllﬁlul B HepHOU Oredecrpennnoi
ROHHEI MpoTHE Hamoacona B asryere 1812 rona?

1) M.H. KyTv3oB 2) 1I'.K. Kyxon

3) AB. CyBopor 4y I1.A. PyMaHLeB
C 1991 mo 1999 rox mpeznicATOM PoccHH BB —--mccmmemeee e,

1) M.C. 'opbaues 2)yH.C. Xpyies
3) JI.H. hpcikHer 4y b.H. L.ibuus

ol b 4) cdld b 5 1)U 5 sl UG

Partic A: Francais général
Trouvez la bonne réponse:

Elle porte des chaussures ——-------—--- ¢t des vétements -----——-—---- "
1) bleu lonces / rosc 2) blcus lonccs / rosc
3) bleu foncé / roscs 4y bleues loncées / roscs

Dans la phrasce suivante, «La star aurait ¢édé une somme importante & unc association

caritative.», Iinformation cst mise en donte de deux maniéres. Lesquelles ?

1) Par I’'cmploi du conditionnel passc ¢t par 1" cmploi de Madjectil “important™.

2) Par "utilisation de 1a tournure impersonnelle,

3) Par I'emploi du conditionnel ¢t par 'emploi du verbe «céders.

4y Par I'emplei du verbe céder qui a une connotation meins positive que le verbe
«faire un dony.
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Quel cst le féminin des adjectifs suivants: bougon, chitain, grognon ?

1y Beugon, chatain, grognon 2) Bougong, chataing, grognong

3) Bougonne, chitainne, grognonne 4) Bougonne, chitaigne, grognogne
Que / parce que / quand / si, sont des -—---—--—--,

1) prépositions 2) prépositions invariables

3) conjonctions de coordination 4) conjonctions de subordination

Tournez par le passif la phrase suivante: «Le travail acceroltra notre valeur individuelle.»
1) Notre valeur individuelle accroitra notre travail.

2) Notre valeur individuelle sera accrue par le travail.

3) Cest par la valeur individuelle que notre travail accroitra.

4y Cest par notre valeur individuelle qu’on saura accroitre le travail.

Certains personnages qui ----—-------- grands hommes par leurs contemporains seront
remis A leur vrai rang par la postérité,

1) avaient proclamé 2) avaient proclameés

3) avaicnt ¢E proclamé 4y avaicnt ¢lé proclamés

Paul s¢ mira, ¢t s’admira, ------------—- plus qu'unc frange sur lc front,

1) commc il n¢ restat 2) quoiqu’il ne lui restét

3) méme si nc lui restait 4) méme si lui ne restait

Il est bon parfois que les goiits -——----——-—- ¢t d'autres fois quils ——---meeaeeme , pourva qu'ils

2) sont diftérents / soient identiques / s'accordes

3) soient différents / soient identiques / s'accordent

4) soient différentes / soient identiques / s'accordes

Trouvez Uintrus:

1) Faites cela et tandis. je me reposerai.

2) landis que tu vivras, souviens-toi de bien vivre.

3) Seulement il est resté, tandis que vous &tes réveillé, vous, endormi, lui.

4y C'était toujours le méme vieux silence dans le bureau de Robert tandis qu'il écrivait.

Votre cas ne fait pas partic de ---—--------- par ces lois ¢t ces réglements,
1) ceux prévus 2) celles prévucs 3) celud prévu 4) celle prévue

Partie B: Histoire et culture générale frangaises
Trouvez la bonne réponse:

Laquelle des assertions suivantes N'EST PAS CORRECTE au sujet du Conseil

constitutionnel francais?

1) Tous les conseillers ainsi que les membres de droit prétent serment devant le président
de la République.

2) Les membres sont désigneés respectivement par le président de la Reépublique, le
président du Sénat et le président de I' Assemblée nationale, & raison d™un tiers chacun.

3) Les anciens présidents de la République lont, de droil, partic a vic du Conscil
constitutionnel, mais la plupart nont soil pas sicgé au Conscil, soit pas de lagon
continug.

43 [.¢ Conscil constitutionnel frangais ¢st composé de neul juges nommes pour neul ans ¢t
renouvelés par tiers tous les trois ans, auxquels il faut ajouter les anciens présidents de
la République qui sont membres de droit.
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Pendant plus d'un siécle, les populations autochtones africaincs ont été soumises a des
peines spéciales. Depuis février 1946, le gouvernement provisoire francais mit fin --—-----
dans l'empire colonial.

1) au ¢olonat 2) au patronat

3) a la capitulation 4) au régime de I'indigénat
Instaurée le 9 aofit 1830, la monarchie de Juillet sucecéde —-—-—-—--,

1) a la Restauration 2) aux 'lrois Glorieuses

3) 4 la monarchie de Mai 4} a la deuxiéme République

Laquelle des assertions suivantes n’est pas correcte au sujet du traité de Maastricht?

1) C’est le traité fondateur de I'Union européenne.

2) 11 a été signé par l'ensemble des douze Etats membres de la Communauté économique
européenne le 7 février 1942,

33 Il institue une citovenneté europeéenne, renforce les pouvoirs du Parlement européen et
institue I'Union économique et monétaire.

4y Il structure 1'Union curopéenne autour de trois piliers : les Communaulés curopéenncs,
la Politique ¢trangére ¢t de séeurilé commune, ¢t la coopération policicre ¢t judiciaire
cn maticre pénalc.

Qui est le chef du Gouvernement francais sous la Cinguiéme Reépuhblique?

1) I.¢ Premicr ministre 2) e minisire de I'Titat

3) [.e cabinet ministériel 4) [.e Président de la République

En France, qui est chargé de prononcer la destitution du Président de la République «en

cas de manquement & ses devoirs manifestement incompatible avec I'exercice de son

mandat»?

1) [L.a Cour de cassation 2) Le tribunal de la Cour de Justice
3) Le parlement réuni en [ laute Cour 4} [ e tribunal de grande instance de Paris
L’affaire Sarkozy-Kadhafi est une affaire --------—-- A

1) politico-financiere internationale

2) judiciaire pour détournement de fonds publics

3) judiciaire liée a la vente de frégates au Libyve

4} affaire politique et judiciaire survenue pendant la campagne pour I'élection présidentielle

[rangaise de 2017
Quelle dynastic fait de Paris 1a capitale du royaume?
1) Les Capdéticns 2) Les Roberticns
3) Les Carolingicn 4) Les Mcrovingicns

Charles X, roi de France depuis 1824, cst chassé do pouveir par unce révolution
populaire qui éclate 4 Paris durant les journées des 27, 28 ¢t 29 juillet 1830, Pendant ees

journées, surnommeées ------------- » Ie peuple de Paris s¢ bat au nom de la liberté,
1) la Jacqucric 2) les Trois Gloricuscs
3) la Commune de Paris 43 les Insurrections [Cdcralistes

La maobilisation des Gilets Jaunces en Franee se fait d’abord —--------——--

1) contre les taxes sur 'cau, I’¢lectricité et sur I'achat de bieny lmmﬁblhcrq

2) contre I"assouplissement de la 1¢gislation sur les heures supplémentaires

3) contre le Pacte mondial sur les migrations

4) contre 1'augmentation de la taxe intérieure de consommation sur les produits
énergétiques
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Le fauvisme est un courant de peinture ------—-e--— qui est né en France vers 1993 pour
s’achever deés 1910,

1) réalisic 2) naturalisic

3) impressionnisic 4) expressionnisie

Trouver L’'INTRUS: «On peut distinguer dans I'histoire de Parchitecture en France,

trois grandes périodes: -—-------—-»

1) [."architecture antique 2) [.’architecture orientale

3) [.'architecture chrétienne 4y [ architecture moderne

Une découverte scientifique bouleverse profondément les mentalités, et est 'une des

origines du baroque, Laquelle?

1) La machine a calculer de ascal

2) La machine a vapeur de Denis "apin

3) La révolution industrielle et I'apparition des usines

4y La découverte étre la rotation de la terre sur elle-méme et autour du soleil, par
Copernic et Galilée

Par quoi "humanisme de Montaigne s’ecxprime-t-il dans Les Essais?

1) Il est ¢erit en latin

2) II ¢tudic I’homme en géndral

3) Il cite souvent des auleurs lating

4y C7est une compilation des meilleurs morccaux des philosophes antiques

Dans la deuxiéme moitié du XVI® 5., quel nom portait le groupe de poétes qui voulut

donner a la langue frangaise une dignité égale a celle du latin et du gree?

1) [.a Pléiade 2) l.a Brigade

3) [." Académie 4y Le Cercle de Franche Poésie

gt b ) i K6 9 o ) U

Who was the leader of Indian Liberation Movement?

1) Indira Gandhi 2) Mahatma Gandhi

3) Jawaharlal Nchru 4) Muhammad Ali Jinnah

When did India attain independence?

1) 1947 2) 1948 P IRN2 4 1971

West Pakistan was part of Pakistan until 1973 when it declared its independence as —-----—-- "
1) Nepal 2) Sihdh 3) Bengal 4) Bangladesh

Diwali is one of the most popular Hindu festivals that marks the victory of light over
darkness because on that day -----—-----—, the Preserver, sent the demon King Bali to rule
the netherworld.

1) Ganesha 2) Lord Shiva

3) Lord Vishnu 4) Lord Krishna

Which dynasty ruled over most of northern India from the early 16th to the mid-18th
century?

Iy Mughal 2) Maurya 3) Ashoka 4) Kushan

The right wing Ilindu political party that is ruling in India today is ----------—--- ;

1) Congress Party 2) Akali Dal Party

3) Bharativa Janata Party 4y Communist PParty of India

According to ITindu Caste system, the Ilindu society is stratified into --——-—---- main Castes.
1) two 2) four 3) five 4) seven
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Marriage system in Hindu Caste System 8 —--=-emcemeee,

1) polygamous 2) exogamous

3) Polyandrous 4y endogamous

Indira Gandhi was assassinated by a -—----—--—--- "

1) Sikh extremist 2) Llindu extremist

3) Muslim extremist 4y Christian extremist

Who is the incarnation or Avatar of the Hindu preserver-god Vishnu?

1) Sita 2) Rama 3) Ravana 4y Krishna

~—----—--—- i an ancient Indian Sanskrit treatise on statecraft, economic policy and
military strategy.

1) Puranas 2) Mahabharata

3) Arthashastra 4) Bhagvat Gita

Vertical movement is ------------- in Hindu Caste System.

1) allowed 2) voluntary

3) obligatory 4y not allowed

What was the First War of Independence against the British rule in India in 1857597
1) The Salt March 2) The Sepoy Mutiny

3) The Amritsar Rebellion 43 Jallianwala Bagh Rebellion
Mahatma Gandhi was assassinated by Nathuram Godse, who was a —-—-—--——--—— ;
1) Sikh cxircmist 2) sccular Lerrorist

3) Hindu extremist 4) Muslim cxtremist

The rule by the British Crown on the Indian subcontinent from 18358 to 1947 is known as

1) British Raj 2) British administration
3) British loreign policy 4) British ouse of Commons

el b ) Mo BT pof St 5 9 pir \ U

The philosophy of "Manifest Destiny' stated that American should expand from the

Atlantic Ocean to the --—-----—--—- :

1) Great Lakes 2) Pacific Ocean

3) Mississippl River 4) Rocky Mounltains

What arc the natural "inalicnable rights"” in the American Declaration of Independence?

1) Rights reserved lor kings and noblcs.

2) Consensus among people about their government.

3) People’s conlidence thatl congress acts according Lo their will,

4) People’s rights Lo lile, liberty and pursuit ol happiness that cannot be taken away.

“Scparate but cqual” refers to the —--—--m-am--,

1) doctring of racial scgregation in ¢lTect aller the abolishment of slavery

2) rationale usced by the anti-sufTrage movement against women’s right Lo vole

3) Immigration Act of 1891, harring the immigration of certain groups of people to the US

4y Supreme Court ruling in which the Court held that the Constitution was not meant
to include American citizenship for black people, whether enslaved or free

Which American president is known for his “trustbusting™ efforts?

1) James Garfield 2) Andrew Jackson

3) William Howard Taft 4) Theodore Roosevelt
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Which of the following domestic undertakings of the George W. Bush administration
became extremely unpopular?

1) Tax cuts

2) The No Child Iefi Behind Act

3) Its handling of [ [urricane Katrina

4) Establishment of the White [ [ouse Office of l'aith-Based and Community Initiatives
The "checks and balances" within the Constitution were intended to uphold the
------------- of powers"?

1) balance 2) separation 3) incorporation 4) accountability
What is another title for American mythical identity?

1) America centrism 2) America exceptionalism

3) America longevity 4y American individualism

Which choeice is NOT correct about the future identity politics in the US?

1) American WASPs would make up the majority in 2030.

2) People's exclusive "lived experiences” will override the Americanness.

3) The US will be the largest Spanish-speaking country in the world by 2050,

43 New soclal movements will grow out around the demands of marginalized groups
for recognition.

Which of these is NOT a component of the ‘American Creed’ ?

1) liberty 2) cquality 3) aulocracy 4}y individualism

Which idea was NOT included in the Declaration of Independence?

1) All people are created equal.

2) All taxes should be boycotted.

3) All people have certain basic rights.

4y All governments get their powers from the people.

Which of the following refers to US policy towards the Soviet Union during the Cold

War vears?

1) Containment 2) Dollar Diplomacy

3) The Stimson Doctrine 4y The Good Neighbor Policy

Which of the following is NOT related to the Great Depression era?

1) Unprecedented government involvement in the economy

2) Appcearance ol makeshill shantytowns, called "Hoovervilles™

3) A new cthic ol personal [reedom that challenged traditional valucs

4) Grawth of the Communist Party to its greatest size and influence in American history

Which choice is NOT a component of the American civil religion?

1) 4" of July heliday 2) American llag

3) Velerans Day 4) slavery

Winthrop made a sermon on the way to the New World in which he said that the

Puritans were destined to be a ————-—---,

1) 'City Upeon a 15II' 2) "Light in the Darkness’

3) Nation among Nations' 4) 'Mountain by the Valley'

The annexation of Texas was opposed by many Americans because -----—------- g
[} Spain still claimed Texas 2) Texas allowed slavery

3) l'exas was too large to be a state 4) the purchase price was too high
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B A& 3% X2 (Japanese Grammar)
21- (%12 () XIB, FRAIOBEUE. RBLHLZITT,

DR L DT 4L T4 4y BT A
222- 2BltiFERE ( ) BAREZLE T,

1 sd 5% pAT IOk o A B Hizhd =T Hizr d st
223- HOFIHDFE ( }. TORATETT .

1) iz 2y il 3) Dz 3 B e H R
224- @# ( ) L BOBEEBFIRHTOVEVG EOTEEY

yave 2 % 3y ¥ vl b NErwLrt 4y B Yoy T
IR g =0 F =W ) . AALERLTWES,

1y 12 bt e A o 3) #3 L T 4y & 73 E T
226- LERAT2VTWVWE ( ) L BREFEETCVLWRTE,

1) 24k 2 N T e 3 LG 4 NEpnG
227- FIB T A2 XL A, EBIC—AIIL - TERLESNL{ ( ¥

1) TlEey = 2) Tt &

HTErhw 5 4y T s AT
228 FEFNTALATEIZRET ( PRl = RS O A

1) E44 ¢ N EbE NEHT 4) % -
229- Bl - A2HY, 20T, ERICHMIZELT W ( ) o

13 2 ¥E 2) ¥ &

3) s A Ay S BTN
230- PEHBEL L ( ). TELanEdBREEELTLEL,

1) ¥aves T 2) Lavea T4 H oI 4 e ot

EE Y EF (Vocabulary and Kanji characters)
231- BESMEEICHEETEALTWE,
1y & L < ) B 1) e B el 4) EEFA
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1) R & 2) 518 3) 18 HEE
BHTETHE ( ) FEMII, AMPESOTERTERATHEEL Y,
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1) 5 )N A 3) W% 4y B IE
BAZIoL-HIL, #8PaFX 702 LTwWE,

1) ## 2 2) NER 4) EH
COPFFIIARLZYEREIBE T AW,

DL 2 x LW B hak S0 4) #2 A A
F@WESEEHE LT L IR,

1) = 2) A ¥ - NEEHE 4

H A& {L ¥ &% (Japanese Culture and History)
FREAMAZBRDERIL, LTI E-EN,

1) L7 2) Gk & 3) AR
BRZZODHT T, T{HLBEVFRL LD I 0,
1) KB 2) 3) wEp
IFENORIRRIL Y,

1) & B e %, 2) fh 1A B 4%, 3) 48 1| AR

AADFEAFEOE LV 2h,
1)45 2)46 347

4 BER

4) &h =

4y # R B4

4)48
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306- The main tribes in South Africa are ---—-----—-—-- x
1) Bemba, Tonga, Chewa, Lozi
2) Zulu, Xhosa, Basotho, Bapedi
3) Shangana, Chokwe, Manyika, Scna
4) Ovambo, Kavango, Damara. Hercro
307- Mozambiquce and Angola gained their independence from -—--—--———--- ;

1) France 2) Britain 3) Belgium 4) Portugal
308- The major ethnic group in Botswana, making up 79% of the population are -—--—-—--
people.
1) Tswana 2) BaKalanga
3) Bakgalagadi 4) Bambukushu

309- What were The Difagane Wars?

I) Proxy Wars waged in Angola after independence.

2) Liberation Wars of Namibian freedom fighters. resulted in the independence of
Namibia

3) An encroachment by some South African tribes in the 1880s threatened the peace of
the region.

4y A devastating wave of tribal wars that swept across much of Southern Africa in the
carly 1800s.

31}~ Formation of the Union of South Africa occurred in —----eeeeeen?
1) 1910 2) 1914 3) 1918 4) 1926
311- Umkhonte We Sizwe — “Spear of the Nation” — has been the military wing of ---—eomeeeee,

1) ANC resistance movement in South Alrica

2) UNITA Guerrilla movement in Angola

3) SWAPO independence movement in Namibia

4) FRELIMO liberation struggle in Mozambique
312- “The Father of the Nation” in Zimbabwe is --—--—--------

I} Robert Mugabe 2) [lerbert Chitepo
3) Canaan Banana 4y Joshua Nkomo
313- The eternal symbol of black resistance in South Africa is -------—------ :
1) Chris Hani 2) Walter Sisulu
3) Nelson Mandela 4y Desmond 'Toto
314- Which person was appointed as Malawi's first executive prime minister at the time of
independence?
1) Jovee Banda 2) Bakili Muluzi
3) Bingu WA Mutharika 4) Dr. Hastings K. Banda
315- Hunter-gatherer people known as *---—-------—-- * are considering as the first inhabitants of
Lesotho.
1) Basotho people 2) Bakuena people
3) Khoisan people 43y Matebele people
316- The only region in Namibia that shares its borders with 4 other countries — Angola,
Botswana, Zambia, and Zimbabwe- is called ” - 147

1) Solala 2) Caprivi 3) Cabinda 4) Bulawayo



317-

318-

319-

320-

Which sentence is not correct?

1) The culture of Southern Africa is known [or its cthnic and cultural diversity.,

2) The various tribal cultures in Southern Alrica don’t rely on rich oral traditions.

3) The southern African Diasporas are promoting their own traditional culture among
non-Africans.

4) The co-existence of different nations without any problem is a unique phenomenon
in Southern Africa.

Choose the correct sentence,

1) The basis of kinship, in Southern Africa, is descent from deceased persons.

2) Most of the traditional societies in Southern Africa recognize both patrilineal and
matrilineal descent simultaneously.

3) South Alrican c¢lans arc typically scgmented into constituent groups. with cach
group recognizing a lounding ancestor more recent than the ¢lan [ounder.

4) There arc very few clans in Southern Africa that arc exogamous unils and may
recognize various ritual prohibitions, such as taboos on certain loods.

Which dynasty doesn’t helong to Southern Africa?

1) Zulu Kingdom 2) Songhai F'mpire

3) Maravi Kingdom 4) The Mutapa Empire

What does Lobola mean in Southern African culture?

1) A traditional Music., often used in different Southern African cultures to ward off
evil spirits.

2) A man can have as many wives as he can afford and the wives share the
responsibilities of the daily chores.

3) A contribution where the groom pays the father of the bride in order to compensate
tor the loss of the man’s daughter.

4) A sct ol traditional masks that arc used in dances have religious, ceremonial and
lunctional origins.
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